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Example 1
Calculate the height of water inside the drainage well and the amount of

drop in water surface inside the well created in unconfined aquifer, if
you have the following informations:
Q=742 m3/h, he=50.42 m, re=500 m, rw=0.224 m, k=107 m/d
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Example 2:
Calculate the coefficient of hydraulic conductivity of the soil (m/d) if you

know that the discharge drawn from the well = 750 m3/h, the total water
surface drawdown = 6.25 m, and the thickness of the confined aquifer =
37 m. Suppose the radius of the influence circle = 500 m and the radius of
the well = 0.15 m.
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Example 3

If the pass factor (T) = 1200 m?/d, the discharge rate that drawn from
the well = 1500 m3/d, the radius of the influence circle, and the radius of
the well = 0.3 m. Find the amount of water depression inside the well.

If we assume that the height of the water inside the well = 50 m, find the

amount of depression that occurs at a distance of 30 m from the center of
the well.

24



SEQEHEIR Il dsia

Solution:

he — hw
R = 21 mk ="
e
In ~Tw
Cw
o BT BIEOR g~
|500 —'L Ui Loo
63

L Cw= [ yI5 m

5“’2 g|‘“7_:5___§o-9 = 0535 m _

25





